FR=

AW B B R U B K

of 3 £ 12AH 24 H

s % | BERPBEHFZRTQ
15 Fr | 2R (SO -EFmREBERKERIIIHAIZL)
] M| 4f1 3 £128 218 ~ &8 44 3 B 15 B T 5 5 B2 S
= B % 6, 145, 000 [ £ 15 %1 IR i 5 4,608, 750 [
2 = m 6. 145 000 F
A ) (M) EREDOLGL
154 0 B 4
® & % Zz 1 @ % 2 @ % 3 & % 4 & S =
) NEEE 6. 550, 000 iR
B = i
(7) REEERX 6, 300, 000 6. 200, 000 6, 100, 000 SEH
) ERRx 6, 800, 000 6. 280, 000 3R
S
BHEET—CR &) 6. 530, 000 $#iR
R 2
™A PRELE (F) 6, 500, 000 6. 250, 000 iR
) —REE 6. 600, 000 iR
5 =

1. &, HERRUMAEERZEELL,

2. HEWRO TEBRL] L. AILSMERBTERE. BEEIRUOHERE,




